TS do we ks abork M Nomb's?
E /{QU»A,%] I = 00y y2,x@)

Z(x)HEx0yz2)
Polfi s of (R/I) CBes EENEY
R= )‘{[;1,%,\/&)\/1 Ia (LL) lat) mwj/>

_\az o wxvy _Hu W
5

x? —U\X'Vg 2] vy ’\/L

0 4?' o x Y x u—ZJ , LY y wHVﬂ
w > R-
S w *x 0 -y o0 < k— %

2z y 5 3
63 R—R >R —¢ > R— N

O\uJD duAZ
B 5 6, o2
T_M(Bw&\—&ms) ‘VZI\I,M 3 Ide&.& I WR\. B%M_ra}w@
It({p/ﬁ?ﬁ%) : FL, >/\/

e T is Amogums T © k3, s 2] Doy




Maxzw]:}( L

1
021 =0 : R <
5
1 R <
B
2 R <
1
3 R <

Nm— Qo\ﬁné
L= (Qc) OJ)‘OA) \oQ)Ce,>

c
R - R \akgﬂKﬂK/I

@D: 1 Stad 30‘5 0]
P' =5 o]ezz'l_
F.L =< de%?)

R5 :?%7/ &% ::L detbg

i19 : R = QQ[a..el; C = res ideal"ac,ad,bd,be,ce"; C.dd

| ac ad bd be ce |
5 C‘ej?p
R 2

{2106 -d-e0 0 |

{2 | bc @ 0 0 | O

{2} | a @ @ 0 -e | - ad)=

2} e 0 8 —d | d(o\d%—c( )

2@ 0 a b o | I

rd
1.deg5 degg

——————————————— : 3

{3} | —ce |

{3} | -be | o)

{3} | bd | L -b

{3} | -ad | o o + I,

{3} | -ac | S

(]

————— 0 : 4 /}\

0



57/ l
A ANA AR
ATANET LY AN 2 veckico

30 edges
o w2 26 Facan

po

é 5 b b é (ﬂ )= bb

2

M‘tss‘\vi @_Ci%@_’ ” 30 Wss;‘/\g eaffa,w

0= l

i25 : R = QQ[a..1]; C = res ideal"ab,ac,ae,ag,ai,ak F
,bd,bf,bh,bj,bl,cf,cg,ch,ci,cj,dg,dh,di,dj,dk,eh,ei FI': 36 dCSL
,ej,ek,el,fi, fj, fk,fl,g3,gk,gl,hk,hl,il"; betti C

o 1 2 @ 4 5 6 7 89 fB,‘- 1D Al%?)
027 = total: 1 36 168 327 412 412 327 168 36 1 _
0: 1 . . . . . . P F-,,':Z(B dez\{
@ . 36 160[315)300 112 12 . . . 12 d
t . . .| 12(112 300 315 160 36 . fﬂg
3: . . . . . . . o1 @’-( = 200

027 : BettiTally Q2




. R
Py b 60

4 Y
R A R [ e T e L

1z

—It

138 : ZZ[t]; p = 1-36%t"2+160%t"3-315%t"4—12%t"5+3
Q0% tA5+112%xtA6-112%t"6-300%t " 7+12%t A 7+315%xt"8-160%t
A9+36%tr10-1%tr12; factor(p)

9 2
040 =(t - 1) (t + 1)(t + 8t + 1)(-1)

040 : Expression of class Product

(4+1) (£+5L +1)
= P+t +l
= ( |+M)3+ ‘5(\+m)L+9(l+W\3 +1
—_— m 3

l nEm

3 3|
i 2 1)

() 1)
|

20 + 30m +(2v + dw>

3{)_ vedw e Tcosahsdeon !



_];‘a‘“ “l[d-'\b,\ Iéea}‘ —_[_
‘ N LU& WMM Fa’r\l Numbers

o[ any Manifo
/NG o v
S .
“h(t)
(/- )% - __Z E‘J("');té
(‘_t)#ver“cw
Cool Thesrew LY
. S, S

I X w & A?MW%B&& ienbcs

Lo\l Le Stgematri




( /0 nbn—‘ﬁww >

15

-—

cosccvasce sbobc88ccoscsos

rosccvosse socoroocsoeno0n ¢
sescvscsss P T e
sovussossse So+oo0ec0TO0a 0
cosoncosos Sroooeoe0 U000
sonco0c00e L0 E0TUNN0S0SO D
ceooccosoe 2T oo soocOCSOSO®

GEEEEEEEEE $ESEEESEEEIEELS

| abc bed ace ade bde abf adf cdf bef cef |

R @ Lf1; C = res idealabe,abf,ace,ade,adf,bcd, bde, bef, cdf,
c.da

1

®

10

R«

- H 5
:
%
. .
%
%
o - [
5
5 N o
S cosccssfos
: @
s @ o
g p cesofossus
aP g v
E cestososes
] 5
3 - cescoscsia
2 g 2
, cefosscssa
5 % "
s g O P ([@lb)
g . .
£ % cfosscsas
: o
B . S
g 5
H g S
i coscsTass e
< <
5 5 2 c —
5 5 foosoosos fossossTola
3 . ° S
g 3 olocoscns cssossTaosn
E S Sl
b s seToscoss ccossTostos
F H . :
£ s cocfeccss coescofeoss
8 o s
. H fooadossss o7¢fncnonss
g < M .
b 3 Focoossso cocccsscsss
© 2 o o o o o o oy o o o o o o o
5 ° SEEEEEEEEE SETEEEIEEEEEEEE
¢ °
o
- s @
- - -
ey o 5 o -
3 o
TE
i o
M
3
3

(1-¢)°¢

Cﬂfvgl 7%10u{z{3

2 3 S
|- 10t [t —é[’—fsw‘é

(1-4)°

Ohi, wab'p\bJ~ -

[ =10t + [g3= (!

1




G\eow)ﬂ& 0% S‘:qujy\% - Eiconbud



